









Synchrotron motion and Synchrotron Tune  
• Going back to our original equation  

$$\frac{d^2 \phi}{dn^2} + \left( -\frac{eV_0 \omega_{rf} \tau \eta}{E_S \beta^2} (\sin \phi_n - \sin \phi_s) \right) = 0$$
• For small oscillations,  
 $\sin \phi_n - \sin \phi_s \approx \cos \phi_s (\phi_n - \phi_s) = \Delta \phi \cos \phi_s$   
• And we have  

$$\frac{d^2 \Delta \phi}{dn^2} + \left( -\frac{eV_0 \omega_{rf} \tau \eta}{E_S \beta^2} \cos \phi_s \right) \Delta \phi = 0$$
• This is the equation of a harmonic oscillator with  

$$\omega_n = \sqrt{-\frac{eV_0 \omega_{rf} \tau \eta}{E_S \beta^2} \cos \phi_s} \Rightarrow v_s = \frac{1}{2\pi} \sqrt{-\frac{eV_0 \omega_{rf} \tau \eta}{E_S \beta^2} \cos \phi_s}$$
\* Angular frequency  
wrt turn (not time)  
Logatume table to the equation of the equatio



• So we can write  

$$\begin{pmatrix} \Delta t(n) \\ \Delta E(n) \end{pmatrix} = \begin{pmatrix} \cos(2\pi v_s n) & \frac{\tau \eta}{2\pi E_S \beta^2 v_s} \sin(2\pi v_s n) \\ -\frac{2\pi E_S \beta^2 v_s}{\tau \eta} \sin(2\pi v_s n) & \cos(2\pi v_s n) \end{pmatrix} \begin{pmatrix} \Delta t_0 \\ \Delta E_0 \end{pmatrix}$$
• We see that this is the same form as our equation for longitudinal motion with  $\alpha = 0$ , so we immediately write  

$$\begin{pmatrix} \Delta t(n) \\ \Delta E(n) \end{pmatrix} = \begin{pmatrix} \cos(2\pi v_s n) & \beta_L \sin(2\pi v_s n) \\ -\gamma_L \sin(2\pi v_s n) & \cos(2\pi v_s n) \end{pmatrix} \begin{pmatrix} \Delta t_0 \\ \Delta E_0 \end{pmatrix}$$
• Where  

$$\beta_L = \frac{\tau |\eta|}{2\pi E_S \beta^2 v_s} = \sqrt{-\frac{\tau \eta}{eV_0 \omega_{rf} E_S \beta^2 \cos \phi_s}}; \gamma_L = \frac{1}{\beta_L}$$

































